2016. 1~38 M&EE)| s=&5

1 A=30

2 Al 1,912 328 268 596 31.2%
s & =2 1,297 211 159 370 28.5%
= ¢ =2 100 20 29 49 49.3%
g & = 81 16 21 37 45.6%
= ¢ = 435 81 59 140 32.2%

g Hl 213,735 389,473 217,551 328,203 1.8 A15.7
s & = 97,472 217,704 125,180 210,999 28.4 A 3.1
= N 2 4,808 33,498 4,356 20,275 AN9.4 A39.5
g A =2 63,704 23,303 58,616 16,326 A8 N29.9
= &= 47,751 114,969 29,400 80,603 AN38.4 AN29.9
O AIIXS

g Al 76,399 201,718 109,659 267,749 43.5 32.7
s & = 47,920 134,188 57,955 158,859 20.9 18.4
= & =2 6,104 35,220 5,975 28,882 VAVZR A18
g & = 20,173 11,935 31,820 20,609 57.7 72.7
= ¢ = 2,202 20,375 13,908 59,400 531.7 191.5




= 97,472 217,704 125,180 210,999 A3.1
= 2,808 11,677 3,022 10,971 AB
2,243 7,641 2,371 7,929 3.8

50 87 74 166 91.8

11 41 34 12 172.3

29 15 53 73 376.1

7 28 1 8 ANT73.3

13,291 15,760 14,493 19,283 22.3

25 46 32 66 43.0

2 4 36 78 1,886.6

55 188 49 148 A21 1

5 14 2 6 A60.9

= 17 216 4 44 ANT9.7
1 15 - - A100

3 17 - - A100

3 62 1 31 A50.4

4,808 33,498 4,356 20,275 A39.5

318 2,354 278 2,273 A3.4

78 551 71 479 213

48 305 192 385 26.2

63,704 23,303 58,616 16,326 A29.9

1 24 2 22 AT.5

7 82 - 6 N92.2

18 167 2 34 AT79.9

2 21 2 10 ADB4

= 47,751 114,969 29,400 80,603 A29.9
1,461 9,207 475 7,936 A13.8

2,894 3,396 2,142 4,234 24.7

496 1,789 504 2,066 15.5

307 1,057 337 676 A36

370 444 41 125 AT1.9




s & 2 47,920 134,188 57,955 158,859 20.9 18.4
M & = 1,173 8,584 1,053 9,250 A10.2 7.8
2 X 168 479 263 731 56.5 52.7
E0IE 578 844 291 513 N49.6 N39.2
ok 2|3t 7 21 24 90 261.6 323.8
HH = - - 3 2 - -
=) 30 294 15 103 A50 A64.9
L 1,922 5,166 2,493 8,184 29.7 58.4
HH 784 1,879 1,233 2,826 57.4 50.4
S=0¢t 6 16 10 32 61.6 97.2
= At 600 1,882 569 1,681 VAV A10.7
e 2 5 3 14 108.2 169.4
s = = 247 1,876 186 1,239 AN24.7 A34
aH 5} - - 2 33 - -
&0l 9 38 5 25 A50 N 33.6
HorE 63 623 38 418 A 39.3 A32.9
s ¢ 2 6,104 35,220 5,975 28,882 A2.1 A18
2100 1,012 8,615 469 3,036 AB3.7 A64.8
SR 20| 77 356 88 445 13.9 24.9
S| 1,419 2,382 1,247 1,492 A12.1 AN37.4
2 & =2 20,173 11,935 31,820 20,609 57.7 72.7
DAk 8 40 - 1 A99.9 A 98.6
HIHA 2 30 1 48 A 36.2 59.5
o=t - - 13 370 - -
= 2 17 1 6 A53.3 A65.9
= & =2 2,202 20,375 13,908 59,400 531.7 191.5
& 632 14,629 1,854 19,657 193.2 33.7
QAN 427 767 1,621 3,175 279.6 314.2
04 86 497 135 636 571 27.9
E=1 161 208 622 224 286.7 7.9
e 9 34 1,434 1,325 15,376.8 3,859.1




